AP (Pa)

Cap =900 mm Motor Kutup Sayisi =4 Kanat Sayisi = 6

800 —_—
P N
AIRONN
o o
700 g° 10° 12°14
AN NI NI AN
\ 16°
ANEIAN
600 ANEANEANAN s
\\ \\ \\ N
200 2 24‘_:-6 _go .
500 \\ \ \ \\ AN 03 °
\ N\ N\
AN AN A\
ANIEAN ANEEAN AN
400 \ \ ANEEANERAN ANEAVEN N
N\ \ AN ANIANIAN
\ N\ ANJEAN N\ N\
\ \ N N\
300 BV EAN NI ANEEANIANAN \
\ \ O\ AVEN ANHEAN
AV AN \ \ \ ANAN
\ \ \ AN ANEEAN AN
\ \ \ AN ANJEANIAN
200 \ NN \ \
\ \ A\ \ N [\ \
\ A\ \ \ L\ ANJANEAN
\ \ \ A\ \ ANEANAN
\ \ \ N\ \ \
100 NN \ \ \ VNN
\ L\ \ \ [\ \ \NAVAVEN
\ L\ \ \ L\ \ \
\ \ L\ \ \ L\ \ \ \ \
\ \ NN \ \ ANIANEANIAN
0 \ \ \ \ ANJEANEAN
0 10000 20000 30000 40000 50000 60000 70000




P (kW)

Cap =900 mm Motor Kutup Sayisi =4 Kanat Sayisi = 6
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